A Better Fire! Exploration Questions

This applet allows the user to manipulate different variables to see how they affect how the forest will burn. 

1.
Try the applet using only the density of the forest button. How does density make a difference? 


Density affects how far the fire will spread, denser forests will allow fires to burn longer since it has the ability to spread from tree to tree. I found that a simple change of 10%, from 55% to 65%, often changed the number of trees burned by around or even above 1000%, since it was able to burning 
long enough to spread over the entire area.


The effect of the density is evident since the probability 
dramatically increases once the number of trees passes a certain level. This marked change helps assert the notion that there is a certain point where even the slightest changes in density can cause a rapid acceleration in the percentage of trees burned.

2.
Try the applet using wind direction now. How does this variable affect the way in which the forest is burned? 


On the lowest wind speed the wind direction makes little to no difference. However, at higher wind speeds, it
 can dramaticly 
alter the path of the flames. If the wind speed was at max or medium then the wind direction would effect which way the flames burned. If the wind sent the fire north, then it would burn more quickly to the north, but it would not burn into the southern area as fiercly
. This meant that while it would burn more fully and quickly to the North (saying the wind is blowing that way) then it devastate that area quicker
, but it would spare the southern area, and do less damage to the sides
. 

3.
Now try the applet manipulating wind speed. How does the speed change the way the fire burns?


Wind speed changes how quickly the fire burns and in what direction the blaze goes
. Low wind speed has no effect on the blaze, medium forces it towards the direction the wind is going, but it does not prevent it burning the sides and even the back a bit, whereas heavy wind speed will prevent it from the back area at all and tends to make it burn in an arrow shape, primarily forward with only minimal burning to the sides. 
While it will clear out the sides, eventually even if the wind speed is on heavy
, it will not burn backwards 
as long as the wind speed remains constantly at high.

�Grammar error.


�This statement could use a few examples to support it.  Also, the statement is a bit awkward the way it is stated.


�The probability of what?


�You assert in this paragraph that there is a “certain level” at which the probability of the burn dramatically effects the number of trees burned but it would be a much stronger statement if you presented more evidence to support this claim.


	Also, the sentence structure is awkward.


�ambiguous pronoun, “it”


�spelling error


�spelling error.


�poor sentence structure


�Since you are talking of north and south probably best to use east and west rather than “sides”.


�awkward sentence structure.


�This sentence should be two or three sentences.  There are several complete thoughts here.


�The word “heavy” sounds awkward to describe wind.


�The word “backwards” is ambiguous.
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